
      Name ________________________ 
 

Indirect Measurement and Similarity Extra Practice ACC 
   
1. Mary Ellen, who is 1.68 meters tall, wants to find the height of a tree in her backyard.  From the tree's 
base, she walks 10.5 meters along the tree's shadow to a position where the end of her shadow exactly 
overlaps the end of the tree's shadow.  She is now 3.10 meters from the end of the shadows.  How tall is the 
tree? 

 
 

 
 
2. A family of spiders has found a mirror on the ground and they have been positioning themselves to see 
each other in the mirrors.  Mama and Sister spider are shown below.  Sister spider, who is 45 inches off the 
ground, can see Mama spider in the mirror that is on the ground between them.  The mirror is 24 inches 
from the point directly below Sister spider and 16 inches from the point directly below Mama spider.  How far 
is Mama spider form the ground?  Please write in all the measurements in the correct places in the diagram. 
 
 

    
 
3. Thach is standing 4 feet behind a fence 5ft  11 in. tall.  When he looks over the fence, he can just see the 
top edge of building.  He knows that the building is 6 ft 8 in. behind the fence.  His eyes are 5 ft 7 in. from the 
ground.  How tall is the building?  Give your answer to the nearest foot. 
  
 
    
 
 
 
 
 
 
 
4. Sam places a mirror on the ground between herself and an apartment building and stands so that she can 
see the top of a window on the 10th floor.  The mirror is 1.34 meters from her feet and 7.68 meters from the 
 base of the building.  Samantha's eye is 1.43 meters above the ground.  How high is the window? 
 

Mirror

Sister Spider

Mama Spider



5. Show all work.  Romeo is trying to see his Juliet but the only way to do so is to climb through 

her window. Her window is 14 feet off the ground. He knows his 10 foot ladder is too short 

because it only reaches up 8 feet. He has an idea to use his 18 foot ladder, but he is unsure if the 

ladder will reach. Use the following information to help Romeo see his love:  The two ladders are 

leaning against a wall such that they make the same angle with the ground.  The 10 foot ladder 

reaches 8 feet up the wall.   
 

How high does the 18 foot ladder reach?  ___________________ 

 
How much further does the 18 foot ladder reach? ______________ 

If Romeo can climb through Juliet’s window,  illustrate this in the picture.  
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 Find f and g.  


